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@ 4a® - 2ab = 2a(a - b)

@ x? +20x— 100 = (x + 10)?
@ —x*+1=(x+1)(-x-1)
@ x?-Tx+12=(x-2)(x-6)

(@)wx2 +23x-21=(x+3)(10x-7)
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®-x2+1=—-(x+1)(x-1)
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D 972 = (100 — 3)% = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x4.9=(5+0.1)(5-0.1) = 52 — 0.12 = 24.99
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@® —6ax — 2bx = —6x(a + 2b)

@ ax®*+ay=a(x+y)

@ a(x+y)-b(x+y)=(x+y) —ab

@)-1 + 1692 = —4(x + 29)(x - 2)
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® (x+y)(a-b)
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@ 4a® - 2ab = 2a(a - b)

@ x? +20x— 100 = (x + 10)?
@ —x*+1=(x+1)(-x-1)

@ x?-Tx+12=(x-2)(x-6)

(@)wx2 +23x-21=(x+3)(10x-7)
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@ 972 = (100 - 3)? = 100% — 2 x 100 x 3 4 3% = 9409
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© 2x% -4x-16 = 2(x + b)(x + 2)
©® (x=c)(x+¢)=x2-16 (¢ > 0)
® -3x2 +30x - 75 = —-3(x + d)?

@ 3x>+8x-3=Bx-1)(x+e)

@ -18 @ -4 @5 @ 13 ® 36

B

Dt +5x-14=x-2)(x+7) a="7

O2x*>-4x-16=2(x-4)(x+2) ~b=-4

© (x-4)(x+4)=x*-16 ~c=4

® -3x2 4+ 30x - 75 = —=3(x® — 10x + 25)
=-3(x-5)2

Sd=-5

@3x?+8x-3=Bx-1)(x+3) .e=3

w2t g =7,b=-4,c=4,d = -5,e =3C0|EZ T-4+4-

5+3=5




20. o2 H7loM a-b-c+d 2 g Tzt

H7]
@ x> +2x-15=(x-3)(x+a)
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@D 2x>-x-6=(2x+3)(x-2)

@ 2x2—xy-3x-y>+3y=(2x+y-3)(x—y)
@ x? +dxy + 4y = (x+ 2y)°
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® 9x2 + 25y = (3x + 5y)® — 30xy
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@ 22 +x-1=2x+1)(x-1)
© 4x* -y = (2x +y) (2x-)
© a®*+2ab+b*—a-b=(a+b-1)(a+b)
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@ 9% +6x+1=( Jr+1)2

@ 222+ 7x+[ |= (2x+ 1)(x+3)
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@ 4x? - 12x+9 = (2x-[_])?
@ -[r+3=(x-1)(x-3)
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@ 6x2-x-15

© (2x+5)*=3(2x+5) +2

cCh "
[—

| 2
> Je 2x+3

B

@ 6x2 —x—15 = (2x + 3) (3x — 5)

©2x+5=A 2 233514

(£4]) =A%2-34+2
— (A-1)(A-2)
=(2x+5-1)(2x+5-2)
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